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CLASS-XI ( TERM - I ) EXAMINATION, 2022
( Paper - III )
COMPUTER SCIENCE
( Optional )
( MCQ Type )

Time : 1 Hour Full Marks : 40

g ;1 H quTis T 40

GENERAL INSTRUCTIONS / |9THT=T 29T -

1. Caref;.llly fill up the necessary particulars on the OMR Answer Sheet.

Y g et faeRor OMR ST 3% W oY

2. Put your full signature on the OMR Answer Sheet in the space provided.
T 3T [ FEERX OMR 3T T § &) 7 g 9 & ¢ |

3. There are 40 Multiple Choice Questions in this Question Booklet.
79 ¥ qRaes ¥ $F 40 vg-famedy wea £

4. Al questions are compulsory. Each question carries 1 mark. No marks will
be deducted for wrong answer.

ot ueT FFER § | Tew v S sfyEEar 1 aﬁa%% Hma’m%%qaﬁﬂﬁ
1T AT |
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Read the instructions provided on page 2 of the OMR Answer Sheet
carefully and do accordingly.

OMR IR W& & I8 2 W Wew 9t fivll & @MgEs & a0 369 3FEKR
6 B |
Four options are given for each question. You have to darken duly the

most suitable answer on your OMR Answer Sheet. Use only Blue or

Black Ball-Point Pen. The use of Pencil is not allowed.

WEE WA H AR et Rl @ € 1 3 @ wa sugw IWY @) oW ST OMR
IH TA® WX SIEH-3Ih T AT FE | FeT T el Sied-@e Forq aﬂ‘sﬁmfmaﬁl
UfgeT 1 9EN 9hed §

Before leaving the examination hall, please hand over the OMR Answer

Sheet to the invigilator. You are allowed to take the question booklet with

you.

FIAT T 99T Bed ¥ A OMR I GIF e AT I | W qiae
39 3797 T o o §ehd & |

4 Adhere to the instructions provided in the OMR Answer Sheet N
very carefully otherwise your OMR Answer Sheet will be invalid
and it will not be evaluated.

OMR W A& W fed ma vt 1 emgaes aem snifag

\manuaﬂ OMRWWWﬁTﬂ&ﬁTwﬁ?ﬁﬂﬂﬁaﬁmﬁrﬁQ
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1. Information is
(1) Raw fact and figure 2)
(3) Meaningful data 4)
SEIIE v ¢l
(1) 37 e IR R (2)
I (3)  WIH FwI (4)

2. What is the full form of CPU ?

(1)  Chip Process Unit )
(3) Chat Process Unit ()

CPU &I Q0T &9 T & ?

(1) 9 9 e 2)
(38) U WRY gHe | (4)
3. Memory is measured in which unit ?
(1)  kilogram ' : (2)
(3) bytes | (4)

- CMS
Science/Con

Input data

none of these

HE T
o @ 7

Connected Processing Uni

None of these

e SR 2

TH 9 H1S el

metre

none of these
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HERT @ T R T F e § )
(1) e 2) ¥
@ W waw
4. Choose odd one from the following :
(1) Speed | (2)  Accuracy
,GS'l/ 1Q zero (4)  Versatility
Frtertea o 9 foey o
(1) = (2) g
(3) e SR (4)  =gE s
5.  BIOS -is an example of
(1) English program {3)  Prewritten program
(3)  Live ware - (4)  none of these
BIOS T& ............ T ITEA & |
(1) Efrerr giom (2) i W
(3) M IW @) FTHIAF T
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6.

The evolution of computer started with the first computing mack

called

A1)  Abacus - (2) Mark-I

(3)  Microprocessor (4) none of these

FHI F [T vgel *Hﬁ?&ﬂ%%@ﬂ%@ﬂ,m ............ gl ST &
(1) FETERE | (2) -

(3) AR (4) T FHE T

The third generation computer used ..oovennn.. for internal operations.

(1) Vacuum tubes (2) Transistors

'['.?T} Integrated circuit (4] none of these

et At & Freger 3 Fiake deer & [ ... 1 AT fohaT |

(1) =S @ R

(3) ¥Rz (4) T 9 BIE T

Analog computers take input in th_e form of
(1) digits O and 1 (2)  volts, ampere, Celsius etc.

A3) electrons (4) none of these
XSC-CMS-(Opt.)-S.C. 5/ 20
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THTEAT SHAT . %Wﬁﬂzﬁﬁ%l
(1) fefsie o | (2) diee, TR, Ay a7fg
(3) iR (4) T ¥ HIE @

9. PDP-11, VAX, 7500 MAGNUM are

(1)  micro-computers (2)  mini-computers
(3) mainframe computers < (8) super computers
PDP-11, VAX, 7500 MAGNUM .............. .

(1)  TTEH FER 2)  HF T

(3) TTRY HIGR (4) WX

10.  Which of the following is not a system software ?

(1)  Operating system (2) Language processor
{3)  Word processing _ (4) None of these
ffenga | @A-91 fawed |9eeadl 9@l § ?

(1) SATwRieT faeA (2) e SRR

(3) o€ Wt (4) T 9 HIE T
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11. Windows vistaisa ....c..ccceeruennninnn. operating system.
(1)  single user 12) multi-user
(3)  single user, multi*tasking (4) none of these
fe faer 0 . Aaifer fawem g1
(1) o g (2) TR

(3) e gow, meet-arfe (4) T 9 B3 T
12. DBMS stands for

41) Database Management System

(2) Database Matrix System

(3) Database Management Solution

(4) none of these

DBMS 1 Saeidl &

(1) <=y Bome faed 2) eEw e faew
(3) ST HAwHe WieqyH 4) T IR E
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13.  To develop a good program, which of the following guidelines should we
follow ?
(1) Modular approach to programming
(2)  Meaningful names for identifiers
(3) Use comment and indentation
#)  all of these
Wm—aﬁﬂmi‘aﬁhﬁmﬁ%mﬁmﬁrﬁmﬁﬁﬁmﬁwﬁéﬂwﬁw
T AMMeq 2
(1) HEeR W 2w (2) HfTEe W wR sedfrerR
(3) T FHS UL TEevH (4) T 9
_14. ................. is a program that accepts data values in tabular form.
(1)  Graphic software _ (2)  Presentation software
(3) Electronic spreadsheet (4) None of these

................. TH U0 €, S 2 9F i YRUEE ®9 T WHR F3@ ¥

(1) TR WHRER (2)  WSIIH AR
(3) RIS Bievie (4) ¥ U @ &
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15. Interpreter is used to translate .........oou.o..... language.

(1) Low level (2) Assembly

(3)  High level ,(4) none of these

TUETUST T YA .o HIST &1 SFAIGd R & o0 2 &1

(1) = w0 (2) e

(3 vEwE @) TR

16, e, is a pictorial representation of step-by-step solution of

problem.

A} Flowchart . (2)  Algorithm

(3) Error (4) None of these

.................. Fﬂﬁm%w-ﬂ—wmuﬁa:mﬁanﬁﬁﬁa%u
(1) TR (2) wifer
® @ wEIwi
17.  Rhombus symbol is used in flowchart to indicate
{ 1j Input (2) Process
(3)  Decision (4) none of these
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18.

19.

............... %1 I = & oy wEe q Rhombus stelteh <Rl SUET fobar ey
(1) ¥ () W

(3) form | (4) FH ¥ FE T

Compile-Time error is/are

(1)  Syntax error (2)  Semantics error

(3)  both (1) and (2) (4) none of these

Compile-Time error g
(1) R (2) e T
(3) (1) 3R (2) AT (4) 9 | FIE Tl

Run-time error occurs during the

(1) compilation of a program 12) execution of a progx_'am
(3) writing of a program | (4)  none of these
T % e ¥ ¥R e e o §

(1) oA (2) e

@ e @) Y B
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20.

22.

The decimal number system has base

() 8 12)
3) 2 (4)
SOTA TR [ T H A e, gl
(1) 8 (2
3) 2 (4)
207 in decimal is ............... in octal.
(1) 1000010 3)
(3) 207 (4)
SHINST § 207 HRA I ... 2l

(1) 1000010 ()
(3) 207 (4)
714 in octal is ................ in decimal.
1) 460 - (2)
3) 560 (4)

10

none of these

10

T | FIg Tl

317

none of these

317

T B Tl

406

506
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23,

24,

FESE T s E b

(1) 460 (2)
(3) 560 (4)
C++isafan................. language.

(1) machine (2)
{3)  high-level . 14)
C++ Th ...... GICEEY

(1) =i+ (2)
(3) vl (4)
Every C++ program must have ...........

{‘)( main () (2)

406

206

assembly

none of these

THe
T ¥ #E

...... function.

getch ()

none of these

(8) pow() (4)
Yol C++ WO H L S AT e |
(1)  main () (2)
(3)  pow () (4)

XSC-CMS-(Opt.)-S.C.
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26.

Who i the developer of C4++ language 2

(1) von Neumann (2)

Dennis M. Ritchie

(3) Donald Kunth {{ Bjarne Stroustrup

C++ language &1 [a&a&Hdl ®19 & ?

(1) o =gEe (2)

.(31 TS 3 (4)

g . fifg

SARA WRET

The smallest individual unit in a program is called

(1) Data (2)
(3) Language @)
fordl! s =1 o B1Y AT T
(1) == (2)
(3) e (4)

'A' is an example of

—{1) integer literal . (2)

(3) real literal - (4)

File

Token

character literal

bool literal

XSC-CMS-(Opt.)-S.C.
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28.

ATH oo T IS & |
(1) e fewm (2) HR feee
(3) fre foea 4) T foreee

In C++ programming '\t' is used for

(1)  Line change | ﬁ Horizontal tab
(3) Vertical tab (4) None of these
C++ WIITRRT  '\t' T S&NT ..o é?W‘a*ﬁ%ﬂ

(1) o3 9 2) &ifast 29

(38) wigad g (4) T ¥ &

Data items that never change their value during program rurn are called

)  Keywords (2)  Identifiers

(3) Literals (4)  none of these

XSC-CMS-(Opt.)-S.C. 14 / 20



30.

221 AT Wl UM T & RE AU od B T@l ageld §, 3%

STl & |
(1) @Ee (2) STESEHER
(3) foetew (4) T 9 PR T

Identify the correct statement :

(1) Keywords are the user deﬂngd names

42}/ Keywords are the reserved words

(3) Kéywords may be written in upper case also

(4) None of these https://www.jharkhandboard.com

TE FUH HI TEGH F

(1) ios STENTEhdl gRT Ui =1 &
(2) WaE ARfT I &

(3) e IWHFH A e smaea &
(4) T 9 &3
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31. A set of logical operators is

(1) +-" /% 2) >, <, >=, <=, ===
B &0, ! (4)  none of these

AT STTEIT BT TH THE oo zl

(1) + -/, % 2) >, <, >=, <= == 1=
(3) &b, i1, ! (@) T d w5

32. Increment and Decrement operators respectively are
1) ++and-- (2) +and-
(3) **and — - (4) ++and-+
(1)  ++ 3R -- (2) + 3 -

(3} **3:ﬁ'{-,_ (4] ++3ﬁ_{—+

XSC-CMS-(Opt.)-S.C. ' 16 / 20
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33. Multiple use of input/output operators in a single statement is called’

L

(1) initialization | (2)  declaration

(3) cascéding | A4) none of these
@ﬁmﬁw/amgzaﬁﬁzﬁ%agmaﬁ.; ............ T S £ |
(1) e (@ e

(3)  HEhHiST (4) M Q FIE T

34.  What will be the value of following conditional i_toatfi;'iaent ?

X =A<=207?50: 60, if value of A = 50

1) so 1) e0

3 20 “) none of these
T sitgerer ua FT A A AT 2

X=A<=207?50 :lGO,EIﬁ{A'WHTrT= 50
1) S0 | | (2) 60

(3) _"20 | (4) sﬁﬁﬁﬁéwﬁ -
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35.

36.

. . * ID
Which of the following is extraction opcrator C ++ 7

1) A | @ v

rd

(3) << {Zf] >>

(1) A 2) v

(3) << (4) >>

A nibble is a group of ............... bits.

() 8 2] 4 .
3) 16 (4)  20. c
fFaer forel =1 T UE €

(1) 8 (2) 4

3) 16 4)  20.

Which of the following is an operating system software ?
(1) MS-DOS (2)  UNIX

(3) Both (1) and (2) (4)

XSC-CMS-(Opt.)-S.C.
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frieifaa 7 @ &= operating system software & ?

1) T w-dE 2 o
(B) (1) 3 (2) (@) T A
38. Which of the following softwares is designed to control the operation of
computer ?
(1)  Application software A{ System software
(3)  Utility software (4) Usc-r software.

Pt o @ e s R & weTert @ B B % R &
(1) UfcTehee SiReaay 2) faweg geam
(@) Feferte Wi @ TR R

{39, The ASCII value of 'd " is

e | 2) 99

(3) 100 (4) none of these.

'd' T ASCII A1 &

1) 68 ' @ 9.

(3) 100 4 THE I R |
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40. In C++, cin and cout are predefined stream

O operator (2)  function

) object | (4)  none of these.
C++ ¥ cin T cout & aRsfia fgw &

1) et ' (2) R

(3) WEE | | | T @ e
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